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2022 Eighteenth International Mathematics Contest (Taiwan)

E[;Z
-

o>
_

g

mAEN
a3

Z
$/ﬁ l

Al
H 7

[[-

=

4

FalRrE:90 7788 HIEIAE 100 77
(= aliRr i i) R BA4GER 7% R )



oM ARG - AT

@%%ﬂéiz B e & IR EEERN > HEBRAAGEN IR EERTERE |
STEEFEE AT LR EEERE  HEE G EEIEIE N ETE RS |
zi%%i%% 1 2 3 4 5 6 7 8
& E B D C A B D C A
HTHE 1 2 3 4 5 6 7 8
% E 32 9 L 150 146 3312 49 200
40000
SRR 5 47 0 340 99)
1 7m
oo " o
]
15 cm
FIEARRR 2 AR > E 7AW - 4 EARELREZS/DAR? (A)7.5 (B)7.55 (C)71.7
(D)7.85
<fFERT>
2x4=g

15 /\/\ 0.15 /\E
£ 8-0.15%3=7.55 /AR » HE B -

2. R EEZEHNHIEERES/D? (A)49.02 (B)49.08 (C)49.12 (D)49.25

<fEAT>
5
5x2x3.14x 210 223 55
360

10x2x3. 14x2—15 7
360

fEE=15.7+23.55+5%x2=49.25 » D o

3. JEEEESS > B 65 AR IRERR » N IrAOKERNE 37 HiE] 62 RERAT - HAET 1
oy 15 7 o B K E ST %5/ /A K2 (A)1225 (B)1250 (C)1300 (D)1320

<>
62-37=25
25%x65=1625
75 60 e

1625 +—=1625x—=1300 ~
60 75
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4. HEERHIFREEE 2232 ‘¥ I7A7 » BHERENEZEZ /DA77 (A)25 (B)26 (C)27
(D)28

<fi#fT>

18x24+2x2=432

2232-432=1800

1800+(30+18+24)=1800+72=25 » #E A -

30
E29)

5. Andy, Bob, and Cora play poker, and the ratio of the chips(Z#) in the starting three is

1:2:3 in order. After some time, Cora lost 36 chips, and the three-person chip ratio was
3:4:5. After a while, the ratio of the three chips is 5:6:7, so how many chips did Cora lose?
(A)18 (B)12 (O)15 (D)21

<fEf>
e 3 3
Cora —BAtEHYEMELLAI: =—
1+2+3 6
6 3+4+5 12
5 7
432 x =180 » 432x =168
3+4+5 5+6+7

180-168=12 > £ B °

6. From 1 to 300, how many natural numbers are coprime to 70? (A)100 (B)101 (C)102
(D)103

<fiffr>

70=2x5x7

300+2=150 > 300+5=60 > 300+7=42....6
300+10=30 » 300+-14=21....6 > 300+-35=8...20
300+70-4...20

150+60+42-30-21-8+4=197

300-197=103 » & D o

<Safif>
1~280Eﬁ'ﬂ)ZiEg%ﬁZSOxﬂf%)xﬂ-%)xﬂ-%)=96

281 ~ 282 ~ 283 ~ 284 ~ 285 ~ 286 ~ 287 ~ 288 ~ 289 ~ 290
291 ~ 292 ~ 293 ~ 294 ~ 295 ~ 296 ~ 297 ~ 298 ~ 299 ~ 360 > I 7 ([
96+7=103
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7. BEZEEIERILESE T —8k > E—RIZ 7 —4 5 S RIZ TR PEY—FZ 1
BERIZ TR —FZ 2 i s EUKRIZ TRITA—FZ 3 {E  EHRIZ TR NHI—
F2 4l > BNKIZZERITHY S Rk HEARIEZE S RERE 7% EkF? (A)178
(B)224 (C)356 (D)380

<[>

(5+4)x2=18

(18+3)x2=42

(42+2)x2=88

(88+1)x2=178

178x2=356 » 3 C -

8. #llE > 4D ~ BCHAZF® E B - BG &/ \ABE HY4MEE4345 > DG 2 /\CDE N5y
a4 LA4=36° > £C=74° > HJEE ZBGD=? (A)145° (B)110° (C)135° (D)150°

<fi#hir>

BG & /\ABE [J5NAF 4345

— /3=/14

DG /& /\CDE My 5743

— Ll=/2

(D £3+2£4=36+ L5+ 26

2/4=36+/5+6"P L5+ ,6=2,4-36
@) L1+ 22+ /5+2£6+74=180

2/2+2/4-36+74=180 > 2/2+2/4=142 > 2+ /4="T1
HI] /BGD = /2+ /4+ /BCD=71+74=145 > 7 A o

T HTEREEE S o7 0 40 97)

. THEZEBENEPAEZS LA o
<fiAT>

= —(E[E=2x2+2%x4=12
= (EE=3x3+3%x4=21
B DU [ =5%5+5%4=45
s = (& [E=4x4+4x4=32
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2. GERGHERES_ -
<>

i EEIESS 6

— AP HE=6x3+2=9

—

3. /NEA/IMERYZRAERNE EEEEEE 4 ) 0 RIRAVEIRIEREE 1.6 AH > ERIERIEE

PR E - (GEH H:TE?ET)
<fFtr>
6 ,~EH=160000 257
4 1
160000 40000

4-+160000 =

4. HAEF2aF e

<ftf>

180-80=100

180-22=158
540-(60+72+100+158)=540-390=150(J%)

Ny 1045
5. FtE: ; = °
1x I +7
2 X i +6
3x—+5
4
<>
3xl+5—§—>2 i 6—146 — I x ﬁ 7—1045
4 4 23 23 146 146
1045

1045 +——=146
146

6. As shown in the figure, fill in the appropriate numbers in the blanks of the division formula

so that the formula is established. What is the dividend?

o

<ERE-UE - R EE RIS N B E T - L - SRR S

<>
[0

23]
[1] 0 [1]
] 2
T o2

3312+23=144 > #7[EE=3312
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7. The two reagent bottles A and B each contain an integer liter of the same preparation with
different concentrations. If A and B are interchanged by 6 liters, then the concentration of
the preparation in the two reagent bottles is the same, then the sum of the preparations in
preparation bottles A and B is at most liter.

<FEEH - ZMESEENR S EE A RRERYERE R ET R~ 256 7T
AR R (E AR T B RCR AR - B~ BRI RAVER R %A It e

<>

s HEEIE x 71 ZBKIE y IF > H x>y
(x-6):6=6:(y-6)

(x-6)(y-6)=36 H. 36=1x36=2x18=3x12=4x9
(x, y)=(7,42) ~ (8,24) ~ (9, 18) ~ (10, 15)
x+y B¢ 26=7+42=49

8. LKA « Z » E(EEACH » R - Z3EH - AP EKE AR KL -

AL Z K KR 100 T4 R IR EAIIE RS AR -
<>
=(EE A KBRS  BEEKIKRET - 15K hzee 8

e e 1 1 1

H~ 2~ NEaKeZb= Sy =342
1-21-2 1-=
3 4 2

N E 7K 5100+ (4-3)x2=200 17 15 /5 K
= BFEE(10 93/10 5 » $£20 47) RBEEUBRA TE5

1. B~ ZRIHAHEE 26 08 > DIEFER 4 NPT > B 1/NEHRE 3 4088 > EE et
T2/ DIREA? 618 A 10 15 38 e S 38 » 2072 L HhAYIEfE] Ry faf?

<fEAfT>

(1) 26+-4=6.5 =6 % 30 4%
3x6=18
6 1% 30 43+18 43=6 I 48 4

(2) 10 % 38 43+6 B 48 43=17 K5 26 43="F4F 5 I 26 43

2. FAEERASEBARER T - DU RIS E B AR B AR o FRERERFRER 72 2
BB R 2R T BRI s g E E R (5 2 W SR BRI 0 0.9 PP 38 HH I IR R (5 9%
AR B R 2 S S B A R R R REIRR N 2/ Db - i B 20 B2 (s i
R 340 2 RUFD)

<fEAfT>

72 N H/EE=1200 2\ R/455=20 A\ RUFD

SERTEE — G RE: (340-20)%x0.9

EEES T IOHBEER: (340+20)xx > (340-20)x0.9= (340+20)xx —x=0.8 b
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